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Blood Relation Questions for Bank Exams (IBPS PO Pre,
IBPS Clerk, SBI PO Pre & SBI Clerk)

Blood Relations Quiz 4

Directions: Study the following questions carefully and answer the questions
given below.

1. B is father of Q. B has only two children. Q is the brother of R. R is
the daughter of P. A is the granddaughter of P. S is the father of A.
How is S related to Q?

A. Son B. Son-in-law C. Brother D. Brother-in-law E. None of these

2. Abhishek is son of Amitabh’s father’s sister. Prakash is son of Teji
who is mother of Vikash and grandmother of Amitabh. Harivansh is
father of Neela and grandfather of Abhishek. Teji is wife of Harivansh.

How is Abhishek related to Teji?

A. Grandson B.Son C. Datalnadequate D. None of these

3. Abhishek is son of Amitabh’s father’s sister. Prakash is son of Teji
who is mother of Vikas and grandmother of Amitabh. Harivansh is
father of Neela and grandfather of Abhishek. Teji is wife of Harivansh.

How is Vikas’s wife related to Neela?
A.Sister B. Niece C. Niece D.Datalnadequate E. None of these

4. B and C are siblings. M has two children and he is son of E, who is
father-in-law of H. H has only one son. C is not granddaughter of E.

How is B related to E?

A. Granddaughter B.Son C.Daughter D. Can’t be determined E. None of these



5. B and C are siblings. M has two children and he is son of E, who is
father-in-law of H. H has only one son. Cis not granddaughter of E.

How is H related to M?
A. Husband B. Wife C.Daughter D.Son E.None of these

6. B is grandson of E, who is not mother of P. D is wife of P, who is
father of B. Cis mother of S, who is brother of P.

How is E related to S?
A. Father B. Grand Father C. Mother D. Can’t be determined E. None of these

7. B is grandson of E, who is not mother of P. D is wife of P, who is
father of B. C is mother of S, who is brother of P.

How is B related to C?
A.Son B. Grandson C. Daughter D. Granddaughter E. None of these

8. B is grandson of E, who is not mother of P. D is wife of P, who is
father of B. C is mother of S, who is brother of P.

How is S related to D?
A. Brother B. Son-in-law C.Son D. Brother-in-law E. None of these

9.A, B, (1 JandK are six family members. J is son of I, who is not the
mother of J. B is brother of I. K and | are a married couple. C is
daughter of K, who is sister of A.

How is J related to C?

A. Father B. Brother C.Sister D.Mother E. None of these



10. A, B, C, |, J and K are six family members. J is son of |, who is not
the mother of J. B is brother of I. K and | are a married couple. C is
daughter of K, who is sister of A.

How many female members are there in the family?

A.Two B.Three C.Four D.Can’tbe determined



Correct Answers:

10

Explanations:

1.
[ B P ]

{Q [R} S ]

Hence, the option D is correct.

[ Harivansh+ Teji_ ]

|

{ Neela Prakash+ Vikas+ }

Amitabh is son of either
Prakash or Vikas

+ +
Abhishek Amitabh

Abhishek is grandson of Teji.
Hence, the option A is correct.




[ Harivansh+ Teji_ ]

{ Neela Prakash+ Vikas+}

Amitabh is son of either
Prakash or Vikas

Neela is sister of Vikas, Therefore, Vikas's wife is sister-in-law of Neela.

Abhishek Amitabh’

Hence, the option Cis correct.

4.
Family Tree
E+
_l +
[H ]
1,
B C
B is granddaughter of E.
Hence, the option A is correct.
5.
Family Tree



H is wife of M.
Hence, the optiion B is correct.

6.

Family Tree

[c E]

'_

s [P D]
l+
B
Hence, the option A is correct.
7.
Family Tree
-+
[c E]
s" [P D]

Hence, the option B is correct.



Family Tree

Hence, option D is correct.

9.

(BII}{K] A}

l

+7 —

b C}

Hence, J is brother of C.
Hence, the option B is correct.

10.

(BII}{K] A}

l

+7 —

b C}

Can’t be determined because A is not specify there.
Hence, the optiion D is correct.
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